Algebra, II

Exam Beview Qf/ﬁge, Pr‘dP

Name f < *&&-g

Date

Try to answer all questions without using Mult.choices avaiable. SAoW il weork.

1. Finish the statement: “If ¢ is 2 negative number,

them ais ... "

a) a whole number b) rational
c) irrational @ not a real number
H m&,ﬁj 8 ﬁﬁﬁf

2.  Find the value of 11v/27 — 6v37. = 5 27

2) 5 @ 15v3 ) 45v3 ) 1T
”i*im“‘eré s e e

5.3 43 - 1542

3. What statement represents the Commutative
Property of Addition?
a) 7(a+b)=Ta+7b B st butive
@ Y+2:=2z4y
¢) (1-4a)+8:=11+(x+8) Asswclative
d) a+l=a Addhive I&ffﬁ‘ﬁ‘f’?

4.  What property justifies the statement
174 (-17) =07
b=o

a) Additive Property of Equality 4 .5+ c+5%
@ Additive Inverse Property

c} Multiplicative Identity Property %~ 1=%

dj Additive Identity Property g 4o = 4.

5. What property justifies the statement, “If
T{z+ 4} =0, thef_g z=0orec+4=0"7

a) Additive Property of Equality

b))} Zero Product Property

! Multiplicative Property of Zero

d) Additive Inverse Property

8.

Which expression demonstrates the Distributive
Property?
a) a(be) = ab+ b
(B)4-B+VT)=4-3+4.V7
¢) 3z-dy+de=(3z-4y)+ 4
d) 402 b = (2a - b)(2a+b) = f:z{,(,{”&ﬁ:nfi 4
{ Regerse of distrbih ﬂf;}

Simplify the expression
(a® + 22 — 8) — (3a® + 40 ~ 1).

b) 4a?+6a—§
d) ~2a°+6a~35

a) =22 +6a—7

@) -2 25

A 2a - 6w 307~y 4

285 L sa wed

Find the expression equivalent to (11r1143)2

b} 22r9248
1210248

a2

a) 22r135
£} 12171845
Z fez
ff T S . t

|24 fixzf té

‘ 14n2y?2?
Simplify th: [4)
implify the expression Slayiad

2 T 2z

e I _=r 6.2
a) o b} o2 s d) Trybz

2=
Moox 4
21 -
. s Zwﬁ _ 2’1‘(
3 7Y

2-3 z-Y




10. Simplify: 379
a) ~27 @ % c} 84 d} 27

-
11. Write the expression Z — without a negative
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15. Find the expression that is equivalent to

(z —T)%

8) 214 b) 2z + 49

¢) x?+48 {@ at — 14z + 48
7

X"‘“?) {;(.ﬂfj) =z X M?k“?‘k‘#i‘f‘%

= % jux +49

e
exponent.
1 1 1 16. Factor the polynomial ab 4 2ai+ 5b 4+ 10 . 5
a) Tl b) =) @ Pt d) zle completely. dddrbz) i {bpa). = !&fy)(h;,,;,
7 . i | (a) (a+5)b+2) ) e(2+b)+5(b+2)
x byt A T ¢) (a— 2b)(5a +b) d) (a+2)(b+5)
X X
12. Which expression is equivalent to —7¢}(2t% — 3)?
1415 4 2183 b) 355 17. Factor the polynomial 21¢* -+ 19¢ — 12 completely.
cy 95 4+ 1083 d) 14t% + 2123 a) (Te+ 3){(3c+4) @{70 ~3)(8e-+4)
Bz 5 ¢} (Tec—6)(3c+2) d) prime polynomial
- i S gy ) )
e it (Te—2) (Betu)

P N TE

13. Simplify the expression (3w -+ 2}{z* ~ 5z — 6).
a) 2% —2r—4
@3z3~13x~”—23a:m12
¢) 32— 1547 ~ 18z ~ 12
d) 2 — 1002 — 10z~ 12

2% 15%7 — 5%

Frmetees ot V2 iz~

18. Factor w? — 13w — 30 completely.

() (w+2)(w —15)
d) (w—2)(w ~15)

a) (w~ 3){w~ 10}
c) (w+ 3){w—10)

mu it e gt “3v . - o e
z&f«%/&«%m{«f‘ for 4 is ez

2‘ it
343 ~13x* - 28x - 12
14, Simplify: 30m5— 45 19. Factor completely: 9g° — 6gh + h?
o f’)(sg % b) (39— h)(g +h)
) fo =5 ) 800 - ) prime ) (99~ W)g +h)
(<) 6z-9 d) 25z — 40

3ok =15 o (y-q
5 5

(3g-5) (39— 6)

e b

Z-b
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20. Factor 2% — 169 completely.

b) (z—13)(z —13)
d) (z+16)(z —9)

a) {z—18)(z—9)
@ {z+13)(z —13)

i

Deffpencc 1) Museres

25, Solve: 2¢? = 3¢

(a)0,-3 b)10,§ ¢ 154 d)186
Zet 43e =0 204320
/ e = =3
(zcis)zo ) ze=
© S c="%

£ & FY e

26. Which equation below has the solutions £ =4 or
z =57

. 3. factor :
21. Factor completely: 27y* 64 gfi’:‘ . e\ 22~ 9z +20=0 b} z% ~ 4z +25=10
. v o o
a) (3y—4)° s e ¢) P +8z—-20=0 d) @ +0z+25=0
(B (3y - 4)(9* + 12y + 16) ﬁ;‘w R (X—u) (4~5)= 0
¢) {3y —4)(3¢* + 12y + 16) =5 =p» X-5%¢ x° -EFx—dx +20=0
{

d) (3y —4)(9* — 24y +18) |
(o 1ot Cubl mot) (S it nuddfifin $)
Saqns S0P (Soma oot positive)

(3g 4 ) (34" 129 1)

22. Factor the expression 2z? — 32 completely.

GeF a) (2z+ 8}z —4)

@ 2z + 4}z - 4)
2ix-w) < 2{x+u) (1-4)

% % ﬁﬁﬁmm

b) (z+ 4)(2z ~8)
d) 2(z+ 8){x —8B)

23. Solve the equation 3(2p+4) — 7= 5(2p -+ 2) — 4p.
b} §

@‘ no salution

é&fﬂg’*"’"? = 35’?§ o 55”““{{'{}6

L, ot) x*=Gx +20

27. Which of the following is the quadratic formula
for all real values of a, b, and ¢ where a # 07

_—b:!:\/b-i-—tiac b mbi\/bﬁof-tlac
@m— 2a ) = 2c

= \/E}' -~ 4a b+ B2 — dag

) r=—sgn— He=—p—

23. Solve: 5{2x+1) > 2{dz +6)

a) £>% b) z>3 @x>% d) 2> 7
fox+5 > 5x +iz
Zxvl ik
25 > 1 x>

29. Which of the following is the graph of the
componnd inequality ~5 < 3z+1<7?

bp s = Gprh @-::im::;asa
5 = io ~5 -4 -3 -2 -1 & 1 2 3 4 5
o Solutio L) S B e o B e e B
5 w4 w3 <% ~L O L 2 3 4 3§
24, Find the solutions for z% == 3z + 40. c) e e e U B wan S S
-5 —4 -3 «3 -1 0 1 Z 3 4 5
a) -4,10 b) -8, 5 @ 8 -8 d) -8, -5 d) e
2 ~5 w4 -3 ~2 -1 D 1 2 8 4 8
e e L5y o £3
& f_%g Y- 0 ~B & By i and  Zx¥L 27
{ngj (z+50= —l s By Zx & L
zef§ er 2279 —z X AN D X EZ
24X 52

AND /éf‘/%{,g ik beokomds

=



30. Which of the following is the graph of the
compound inequality 2 — 3z > 8 or 3z 15 > 97

ol : A
I S e e B e e e e
-8 -2-18 1 2 8% 4 5 6 7 & 9§
. {
LB S i e s e B e e e
-3 -2 0 1 2 3 4 5 & 7 & 8§
bl g [
c) ¢ T } : |I % !I 1 i’ P2
-3 -2 -1 0 1 2 3 4 5 6 t B 8
(@) bbb
~3 -2~ 0 1 2 3 4 85 6 T B &
L-Hx>E 2x~157 9 ;’”f} ke
3 ooks 14
— > )
2x>6 Bx > 24 ELFE L
X< or x> 8 e
ppatte

31. Solve the inequality [4z + 71 < 21,

a) ~f<z<8 @~7<m<m§
@-_7<m<§ d) no solution exists
“Ax+"1 <2} AND Uy+7 > —2l
Lx<jy iy »>—28
)edd X >
o 7
y< Yy -Fex <«

32. Solve: |2z+-7)> 11

a) <9 @m>20r:¢<—9
) z<—~2Zorzr>9 d} no solution exists
Ze4+ 1 2 A v Zk4+7 <=1
2y > H 2y < ~1%
K>Z or X<—~4

33. In the equation d = rt solve for t.

i s

b) t=d

a) t
CI I

d=
r

i}

xt
-
t

~5 =
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34. IF there is no solution to a system of two linear
equations, then the graphs of the equations could
be .

a) two perpendicular fines

@ two parallel lines

c) two lines that do not intersect { b3 Fhedt do not
;y;*f’iffbﬁj“ {""v\i—»’{ g‘m“ MA

é&mxu%f ;}’iff‘vm 3

d} a single line

35. Ify=2r and z+y =86, find the value of z.

2) 0 b) 1 @ 2 d) 4
Yitzx b
2x =zl
X =%
36. Solve the system: ~2r+y=0H :f? Y Ze o= i
iy - By = —F = Lk ~Zy = -5
a) (~2,-4) b) (-3,-3) ~{ox = 5
o) (3-9) @ (49 A
Fty=5

4=

37. Which graph represents the inequality

3z 4+ 2y £ 67
a) Y @ Y
L] 3
2
2 x x
€)

i—int @ 2
fj”fsﬁ;f"f? 3

So=D shede belnw selod gy
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38. Which graph represents the inequality z > 27

5.) 4 y-k b) Ag
r o e e,
2
FUSE

solid fon,
> = ﬂgw

39. In the ordered pair (z,y) the value z is said to
be an element from the .

a) relation b} function
¢} domain d) graph
{x,4) (?}mm»:@ Rarge)

Pt :"%“?Md‘i‘ ef Cordar

40. In the ordered pair (z,y), the element from the
range of the relation is .

b} both  and y
¢) z only if = is positive
d} y only if y is positive

41. A set of ordered pairs in which each first
component corresponds to exactly one second

component is called a
@ﬁmction

d) graph

aj relation

¢} range

42, A function is a relation where

a) each value in the range corresponds to one
value in the domain

@each velue in the domsin corresponds to one
value in the range

¢} the valve in the domain equals the value in
the range

d) the value in the domain never equals the
value in the range

43. Which of the following relations is not a

rep et

function? ¢

- it X i

Nt =] 2[AY 7|4 xd;mfs

Pk ™ v] 9]i2)] 0]\ 3 s

ch {tzfz?

’ 6] 9] 0] 8
me’%»ﬁﬁh zj 9] 1] 511
’ yi 8] 2| 812

b) II only
d} I and III only

QI only

) T enty

X 3 boys

i/

P - Fo o ;;;egﬁm;g calls from ?%*éﬁ‘fﬁ

oK




44. Determine which of the following graphs is a Solve,

function. f = &
48. Simplify the radical 1/3 . Fad

1. h\w ‘1’?5’7‘;. -
V4 N\ a) 2 b) § {e)y 8 d) §
II. Y
49. Simplify: 3V12 ~ 56 + 224
~/ TL ¥ a) 3v3+3v6 ED6V3 — VB
\/z g c) 93 -3vE d) 12v3 -6
343 ~ 546 + 24 b
23.2{3 ~-54% v2- 246 ~
a) 1T only b) I only . i3 - 54T +udT = B -
¢) ¥ and I0T only d} IO and II only

adied vertt cd fope fegt
F o L 50. Simplify: 8934+ 516

a) 1392 b) 1892 ¢ 2092 @34\"75

45. Ifa(n) =8+ (n—1)-9, find the functional 5
’ valau(enzz(s). (7=1):3, find the function ¢ Y792 + 5452
3 gszifl
2) 60 (E))ss c) 78 d) 82 =¢34 *
= B I T
af8) = 3¢{§~1) -4 24 Hae +ipazr = 34Az2

=3+ = Gb

51, Simplify: v2nm? - v8n%m3 (Assume that all

46. 4 i . X . o
In the symbol rtheniscalled the variable expressions are positive.)

@ root index b} radical 8) 2n?mt @ dnlmd
) square root d) divisor &) st d) 16ntmS
= 3 g 2
Y Tont m® = Hn omH
T remember - fvide poier on variables
47. Which expression is equivalent to 487y ? ,dm E"i’“ b:i
2524 e index
(Assume that all variables are positive.) e,
@fhy"ﬁﬁ b) 8zy*\/3y 52. Simplify: /3. /%
z2 522
4=y /3y 16cy°/3y VB 4 VI0 V3
) —a ) =g T Oy OF 9%
§4 T = ) FE i ) —— . ; -
N4 H 3 x 4 :4’2){;&; -"{.’u,j ~ 3 5 - V5
1 pe 2 j{ ) :
fgS‘D 2 4 53» A "‘ %‘_jz = 2
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BTzt

53. Simplify the expression

all variable expressions aie positive.)

. (Assume that

zz:/3y 8xz+/3y
a) Mﬁy b) —-——-———-Gy
226y a ortz? /Ty
@ 3y 6y
A
T2 xge” . 43y X2 {oq
13 4y 3y 3y
54. Simplify the expression 5—57—5- - — ‘i 3 5
a) ~12 25 () ~10+5V5 U
¢} 20+ 7V3 q) B1tyo “*214‘[5“
= 5£2@{«§) = ~5{2-45)
# -5 = ~ o4+ 5{5
55. Solve the equation vE — 2 = 5.
a) 16 b) 25 ¢) 36 49
K =71
= uf

0T

56. What is the solution to the equation

VInFi=2vE? — sasier A Babd
.4 b} 10 ¢) 12 d) 20

Gonei) = 247

3t s Hed
% n L= Hs

LnE
v

Y

Which absolute value inequality is equivalent to
the solution shown bg the numbe; line graph?

e,

87,

E s ey

I 13

'
5

o

| 1
1 I 1

4
s
1 0 1 2

b} z— 5| <6
@gz—51<3

x-5] < 3

n) |[5—z|<6
c} |e+5[ <3
é:)o@&;&%ffﬁ
e R
@Bﬂ{w&iﬁ e

Factor.

58. 940 — 8a? + 28a°

ol { b -2a" + "?&q}

59, 3a%+ lda-+15

) . g N
L, Ba +5) (e +3)  Gws® chs
e ok
P product = 45
N . )
ot aa)esa +1s M
- 30 (a+2) &5 (a3l
60. nd -~ 16n + 64 Pmiﬁ = LY
for -~ Fo il
iﬁ“gj (n—%) o€
= {n-5)°
61. é’l’a»—-’?b}}-azmab
Ta~b) +a la-p)
e~b) (1+a)

(cabe roct  tabe rwut) {E@g@m;{ m&éf wf&

62. ¥ +8

(b+2) (b*— 2b +*1)
fg,w%ygs 5{}"{3‘

63, 12562 —uwf

(Q{waa) (:Zf}c, .§~5{,u§ &L%ﬁ)




" Solve.

64. 3|g—11| =33

Express in terms of 4.

70. V=40 = A4H-i0 A

Page 8

[g-1 )= H = 2175
ﬁ«uﬁgg oy %wq}:"n
sﬁ‘-’a iy 2 a g = Z
4 -

) T W5 = - =
-0 e
-2 a Z77

= Simplify.

Simplify.

66. VBa® <= Ja

B7. +23.v23 = 1%
{&éj e radiead

68. +/8a-/1240
Vo 2o H et

= 2:.24% 42a3

= Yg? i

Rewrite without any exponents.

go. 2F = »\j’?

72, (12— 11i) + (4 - 9i)

I — 2010

73, (12 +4d) — (7 + 24)
T4yl =T =20

= £420

74, ~5(4—Ti)

20 +35 [

Find the product of the number and its conjugate
75. (9-3i ) (9 +30) )

= §1 #2790 -270 =90
= 51 ~ Gg{~1) = G
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77, a?=a+1=0
az 1+ {i-y6)=1c{"3
;{;i‘) Z
8. wty=-—2 f—: mxwa:g
é”?’?jﬁ“”?» 2y = &
%ig, - Kz 2

Simpiify, using scientific notation.

= {4
- 8.1 x 10¢ g0y fﬁ% )
2‘7 x 10“4 ‘2”’ 7
= %xmg

Fill in each blank with the correct symbol (<, >,
or m).

80. -16v4 _f —4/18

“iblz) ey
=37 < — i
Simplify.

8. (w—6){w+8) + (bw—1)(2w+3)

118

i

2 2
W - BL oW fiBw -3

c Hw +i3w — 3

82, The polynomial (3z%y® — 7z%y% + 8y5%) is what
degree? ‘i‘ ¥ N
o " A

{wz+éw' ~bw W3ff> “%“(fmﬁ"i%fégﬁif 2}

Solve by completing the square.

83, w?-+18w-+80=0

wrelgw = F0
L A Y —
{uj FiSw +5) = "0 +4]
{ig’{;j.,{w%‘;}zz f ies = %‘% fw{ = gfjf/’g \"2
w+4 = £ or w= "9« "1
Find the z- and y-intercepis for each line.
84, 10z + 2y = ~20
iD= 18 2oy = 720
=2 b= = {0
Graph.
85, —x+5y-+15=0 g = X+ls
+ -
Y= 7T x +3
=
|11 #‘Md
| e
2)
86, Write the equation of the line that contains
(~12,5) and is perpendicular to the line
y = 3z 6. ﬁjﬁm:“‘f/g
= +b / i f
Y= s ly= o X+
s= V3 —iz) +b f
= tidb b=t




Simplify.
g“wmm %
87. V70 = %255’ = 45552
V3

83. Solve the equation P = 2{+ 2w for w.

P ¢ p o= v
a) w= P ~24-2 b) w= - —= ‘2
(§ w=E22 @ w= 27t W=z

gr P lEZw Sw

94, Solve for F in the equation C = §(F — 32) %g(j’ = Fr3z

-
PPN £X: =7 a) F=32-28C b F=C+ 2 Fﬁ% o 43
““;’/5 ®F=§G+32 d) F=3C-32

(1)

g5, =5 o L = =57 = ~5%5{ 95. If a system of two equations is independent, then
61 i oz " the graphs of the two equations .
0 -
. @m& parallel lines
- 5t )} are perpendicular lines
& ¢) do not intersect | @, len that s neF Lilissect

Solve for the indicated variable.

§0. p?+32=128

“z 46 R
f’.‘si.‘f: ge = L yié ¢
p=x uve
Solve, %71 BTG oc=
9. 0=p*+6p+1
= W&ﬁwmﬁ NGii-fg
2 Z |
s - gz T RT3 2V
— A
92. Find the reciprocal of ~8 + %, )
: ~9-2¢ - =9-2¢
-Gzl h-z fi—t/2
- —4-2 Y
5t 4y 5z

may Aot bi pi Hha

d) intersect at ope point

96. Find the vertex and axis of symmetry for the
parabola y = 45 4 8z + 6.

a) (-1,1); z=~1
¢} (-1,2) x=~1

b) {1,0); =0
d) {10,1); £ =10

rects Sor Lurbi s
97. Find the z-intercepts of the parabdla

y =z —2r— 15 (k=53 {x+3)=0

- . = 5 5
9 (20,69  (Deso 6o 0
c) (~7,0) (2,0 d) (~0,0), (1,0)

BEIWE 3

98. Write the equation of the parabola that opens
up, haz & vertex V{2, -3}, and is congruent to
y = z?. Answer in the form y = a{z ~ h)? + k.

a) y={z—2)2+3

@y:(mm‘Z)z--(i

b) y=(z+2)°+3
d) y=22% -3

Y= (x~20 % -3



Algebra2 Name:

Exam Review Continued

99. Which interval notation matches the following graph?

& T o s e

. -5 -4 =3 -2 -1 £ 1 2 3 4 5

a.  [(-0,-4) U (0,) pars v ks
b. (—w,m) 9}({ \?:

67 (o0, 4] L (0,) = =

T[40

For the next two questions, uzw
- notation. When asked to.det ne increasing

or decreasing, find théinterval on which the
demain values are increasing or decreasing.
Function's

100. Graphof: y=~(x~— 2)* +4.

.........

..........

..........

P

.........

(~co, 4]

What is the range?

&

Incresing? (%@ 2.)

Decreasing? (2, m)

What are the x—intercepts?xz 0 sed X=4

What is another name for the x-intercepts?
Zeres, oots | Se [uhions

What is the y-intercept? Y=o (Qﬁﬁ i)

101.

103.

104,

Period: Date:

Graph y = ';1; jx 3| —7 on your graphing

calculator.,

What is the domain? [~ 29, ©)

What is the range? Z:’ T, co)
(3, 00)

Decreasing? _(— %o 3)

for,
Incresing?

. Solve the following system by your choice of

2 )
y=-.xz+4x+4 -¥ 4 “h"‘”q:m&%

methods: ;
y=2-4 o= ¥ -2:0-%
feti)ix+2) = 0
Solution: (‘7{; 3’5) o (Mzi_g) Xé{‘f 6 ‘xl 2
Vi + y = ~§

Solve by graphing: y<2x+1 ,




